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1. T @’C Y igl evofor We didn’t finish the strawberry cake, so we put it in the r or to stop it from going bad.
2. wo rvé/ Sandy w e a shirt and a pair of pants to work today because she had an important meeting.
3. ¢irange There is something s e about your new friend. You should be careful when you’re with him.
4. S Zﬁm English can be u 1 when you want to talk to foreigners(#M B A).

5. J; ile David didn’t savethef e before he took the lunch break. When he came back, the

computer was out of order. He might have to do the report all over again.
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1. Ginais ~+hinner (thin) than she was last year, so her old skirt is too x‘/m rae (large) for her.
o a nic €z \ J
2. Cynthia often helps her classmates. She is L Ehe nicest (nlce) student in her class.

3. The pancake is NT$100, the pie is NT$500, and the cake is NT$800. So, the pancake is the chea pesT{(cheap)
]

of the three.

4 Tamas Uound (young) as Emily. We are both fourteen years old.
VY

5. Henry is twelve, and Lisa is fifteen. She is oleer /e /d oy~ (old) than him.
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1. Eating healthy food is important. Exercising is important, too. (A as...as...&HF 8 )
Toting bealthy fooud i< a L important as exerci<i ne .
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2. Amanda is 45 kilograms. Beth is 50 kilograms. Dora is 60 kilograms. |7kilogram(s)/kfr J

(A Dora...of the three. 2LH)
, heaviest f
Dora__js _the fattest”, 07C the +hree.
3. BEAERBRIUAS ZPACHBEIWmR - (F8R) jarbqje
r) \, (
7 - - ] sl ' /
L%"' aiving new lifte +o olod P/Vfiwej ,!A/@K will “make lesc trash. -
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